6. LG RDME (GTEEET)

1.3 ¥%E & T RO

' =

R - P

[ 1] %h/ﬁ

[\9)

L 2002 FE)

[ 1]

72
%+\/1_:¥+3\/§

=42 +32
:7‘/5

[ 2]

3
+
tole

(R IR

2002 )

[F 2]

62
8
«/§+T

- 8><\/_
2Rt R
=22 +4.2 =62

[ 3]

Sl
+
S

GiliGES

2002 )

[ 3]

52

%+\/§
:i_Q_ ‘/_
—3J_+2J_—5J§

[ 4] Jar

&lo

(g ] I

2002 4E )

[ 4]

53
6
\/E+T

o 6><\/_
3\/'+\/_\/_

=33 +243 =543

[ 5]

5]
+
il

(K73 IR

2002 4FJE)

[ 5]

52

\/E+%
=342 +2/2
=52

[ 6]

&
+
w|@

(s BB

2003 )

[ 6]

343
J§+%
:\/§+@

3
=J3+23 =33

(1% 7] 5\/_

\/_+\/_

(BK T IR

2003 %)

[ 7]

—35
510
T + 420

=—55 +25

=35




[F4 8]

2003 )

[ 8]

843
15
«/2_7+T

—3J’+15‘/_
=33 +543 =82

[ 9]

L2003 4FE)

[ 9]

75

3

2t

| &

=243 + %

[ 10]

El

FIL 2003 AEE)

(R 10]

52

J_+ \/32_+ 1x/2
V2 x+2

—ayp+ 42 f

—3J'+2J‘ 542

(R 11]

I 2004 )

(R 11]

37
27 +47
=37

(R 12]

L 2005 FE)

[Ri12]

57
217

% +28 = 22 o T
=37 +2J7

=57

[RH 13]

= 2005 )

[ 13]

56
=3J6 +26
=56

[ 14]

M 2006 4E )

[ 14]

82

[RH 15])

F[ I 2006 )

[ 15]




[F16] g, 21 [f16] 57
V7 21 5 21 X7
(BEYLE 2006 L) Va8 e =T £
=27 + 21;/7
=2J7 + 37 =57
(W17 10 ;= (171 55
s 10 | g o105 e
(FhZR1 I, 2007 4R L) T =5 <5
1045
== +3v5
=2J5 +3/5 =55
[ 18] _ 10 L E [Fi 18] J5
J5
(f&FFIE 2007 4JE)
(fI19] 6 [T 19]  5v2
NG} _|_«/§ 6 6 X2
b LA C N )
G211 2008 1) = T T T
:¥+2«/§
=3J2 +2J2 =502
[ 20] 910 \/Z [ 20] 2410
5 5
(FEIR B 2009 %)
[ 21] J3—2+% [f21] 742
(F [ 2009 4)
(fi221 15 = (221 9v3
J3
(#RZ)I1E 2010 4E7%)
[R5 23] [f23]  2/6

()1 2010 4EBE)




(77 24] %Jﬁ/g [ 24] 443
(IhALE 2010 4FFE)
[ 25] %2+J§ (4 25] 3«? e
— (652
(A IL 2010 4F ) szwg* Taxdz V2 X2
—¥+2«/§ =J2 +2J2
=3J2
[ﬁﬁ 26] \/5—4+£ [Fﬂﬂ 26] 7\/€
J6
(5B 2010 )
(ﬁﬁ 27’ ﬁ‘i’\/ﬁ [FIFH 27] 9\/§
NG
(K43 2010 )
(fi28] 30 , 55 [fE28] 845
J5
(BEIR B 2010 4£JE)
(f20] oo 4 [20]  5/2
J2
B 2011 4£)%)
(Fis0] 21 oo (301  —v7
NG
CEJIR 2011 4R )
[Fﬂlﬂ 31’ \/5—+i [FICH 31] 9\/5
V2

L 2011 4EJ%)




[ 32] i+£ [ 32] 26
6 2
(EI I 2012 )
(F33]  or . 30 (331  7J6
NG
(FRZ)IR 2012 )
[ 34]) V24 +£ [f34] V6
3 V3
(B 2012 4EE A)
(/135] 55, B [535]  3v5
J5
(eI 2012 42 F%)
[F4 36] @+%: I:\ [R5 36] 5vV2
(f@M b 2012 )
[f4 37] @+% [R5 37] 5v2 )
(BRI 2013 FEHE 400 18 +
=3J2 +2v2
=5J2
W38l g+ L warsayae [ ins, sl e
(LR 2013 45) 2t
=2 +2v2
=3J2
[f4 39]) 3 [ 39] N
3 %+Jﬁ
(fEE IR 2013 4£)
=J3 +2J3

=343




[ 40]

Jar + 24

(FF AR 2014 R %)

[ 40]

7J6

J5r + 24
NG

=3J6 +4J6
=17J6

(R 41]

)
+
m‘@

(CETBRIR 2014 4R %)

(R 41]

5vV2

6
B+ =

=92J2 +3J2
=5J2

(R 42]

Va5 + 22

&

(PRSI 2014 AEBE)

[Ri 42]

95

30
J45 +—
J5

=3J5 +6v5
=9J5

[ 43]

Jo7 + 15

(B[ L 2014 4EBE)

(R 43]

83

Jo7 + 35
V3

=3J3 +5J3
=8V3

(R 44]

10
— + /45
V5

L 2014 )

=
R

0
i

(R 44]

5V5

10
— + 45
V5

=2J5 +3J5
=5J5

[ 45]

Jax + 30
J6

(FEARIL 2014 4 BE)

[R5 45]

8J6

J5z + 390
NG

=3J6 +5V6
=86

[ 46]

V18 +—~

4

(H&EFHIR 2015 %)

[Fi 46]

[f 47]

(JeElL 2015 4£)

(R 47]




[ 48] Ji2 +3/E [ 48] 46

V2 RN
(I 2015 4EBE) V2
=6 + 36

=46

(14 49] JoT 4+ 3 [ 49] 43
3

3
(fRE R 2016 4£JE) V2T + N3

=3J3 + 3
=43

[ 50] —J75 +£ [ 50] — 3

s _ 12 _ 1243
(THEH. 2016 4 % 1) VT5 + =58 =

=—5J3 + 443
=—43

[ 51] [ 51] 73

S
+
co‘@

9
GRACH 2016 4FE) Vs + =

=443 +3J3
=173

[R 52] + I3 [ 52] 1072

8 8vV2
(£ 2016 4EJE) T2+‘/7_2:T+‘/36X2
=42 +6J2
=102

5

[ 53] [[H53]  3v3

&
N

6 6X3
(R 2016 4EHE %) J§+T3=J§+W

—J3 4+ 83
3
=3 +2J3 =343

[ 54]) N [ 54] 3J3

3
T3 3 J12
(e 2016 4 ) T3+ 12
=J3 +2J3
=3J3

[(f55] 5g o 21 [#155] 57
7 . Vg 4+ 2L —gy7 4 2T
(BRI 2016 45 28 =T
=27 +3J7
=5JT




(561 57 4 15 [[156] 843
s Jo7 + 15
(FEAIL 2016 4EJ¥%) 73
=3J3 +5J3
=8J3
(f57] g 2 [M57]  sv2
V2 \/— 2%
(B EIR 2017 45) J§+T I+
=22 + 2‘; =2J2 +J2
=3J2
(F58] 6 | 5 [(F58] 52
2 6 6xV2
(TS 2017 4EFE 14 H0) T2+J§=W+z@
6‘/_Jr2~/_—3«/_+2\/_
=5J§
(591 75 4 12 [(f59] ov3
B 12 12V3
(251 2017 4EFE) ﬁ+f3=5ﬁ+T
=5v3 +44/3 =93
(P60l _ 7414 (el V7
7 14 1447
(IHBLR 2017 4EB) —ﬁ+T7:—f+T
=—J7 +2J7 =7
(Fel o 6 [fT61] 5V
7 B8 oz B2
(Fuski LIt 2017 4-2) 7 NG
:2«/§+¥
=22 +3J2 =52
[Fez] 30 [T 62] 85
— +J20
5 30 30 X5
(I 2017 ) NI s ]
_30%5 4 5 —65 +245
=8/5
(F 63] (7 63]
10, 18 &3
i e
(EBFIR 2018 4 ) @ ++/18
 10x4/2
oy V2

=52 +3\2 =82




[RH 64])

(B 2018 42%)

[ 64]

N3
o
15%~/3
\/§><\/§+ X3
=53+ 4/3=9/3

[ 65]

(BZHE 2018 4EEE A)

[ 65]

NE
3\/_03><\/3

\f \E>><\/3

[ 66]

(REAUL 2018 4RJE)

[ 66]

33
5°X3 4
3 '3
i 4x+[3
R

[ 67]

18
\/6+\/2_4

(f& 5 I 2019 )

[ 67]

56
o

18 X[6
\/EX\/%JF 22X 6
=3\6+2\/6=5/6

[ 68]

\/_3+\/7

(P23 2019 4EJE)

[F 68]

N7
F+ﬁ

[ A7
X
~7+ 5

=3\[7+6\7=N[7

(R 69]

(B LR 2019 4E )

[ 69]

5\3

fo
\/9§X><\/j§+ 223

=31/3+21/3=54/3




[RH 70]

[ 70]

104/3
i%+7¢§

—9¥§+7J§
=31/3+7/3=104/3

(R 71]

V7 2

(R 71]

73

5, 12X X3
3 3-+J— NE

=31/3+4[3=74/3

(R 72]

i

[Ri 72]

5\/2
o

o

=2\[2+3/2=5/2

[ 73]

55+ 22

[ 73]

Nn10
V90415

=3\10+6710=9/10

(R 74]

25+ 2

(R 74]

N7

[ 75])

42
J?+V%§

[R5 75]




[ 76
] 5\2

(BRI 2021 4E )




